

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	109006M	50,000.000	1.00000	50,000.00	1.00000	50,000.00	1.00000	50,000.00
FORCE /	ACCOUNT	DOLL						
0002	151006M	1.000	0.01000	0.01	26,500.00000	26,500.00	13,500.00000	13,500.00
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	152004P	1.000	0.01000	0.01	1.00000	1.00	2,500.00000	2,500.00
_	S AND CONTRACTOR TIVE LIABILITY NCE	R'S DOLL						
0004	MMR004M	40.000	1,600.00000	64,000.00	1,600.00000	64,000.00	1,600.00000	64,000.00
MOBILIZ	ATION	U						
0005	MMR006M	5.000	4,000.00000	20,000.00	4,000.00000	20,000.00	4,000.00000	20,000.00
EMERGE	ENCY MOBILIZATION	U						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0006	MMG007M	(1)	0.01000	0.01	10,000.00000	10,000.00	0.01000	0.01
FIELD O	FFICE EQUIPMENT	LS						
0007	MMG005M	(1)	0.01000	0.01	1.00000	1.00	0.01000	0.01
CELLUL	AR PHONE SERVICE	LS						
8000	157004M	1.000	0.01000	0.01	0.01000	0.01	0.01000	0.01
CONSTR	RUCTION LAYOUT	DOLL						
0009	158003M	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
CAUTIO	N FENCE	LF						
0010	158006M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
SILT FE	NCE	LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY	Cat Alt Set:			Cat Alt Member:		
0011 158015M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
HAYBALE	U						
0012 158021M	300.000	0.01000	3.00	0.01000	3.00	0.01000	3.00
TEMPORARY STONE CHEC	CK DAM CY						
0013 158024M	300.000	0.01000	3.00	0.01000	3.00	0.01000	3.00
TEMPORARY SLOPE DRAIN	N LF						
0014 158045M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
FLOATING TURBIDITY BAR TYPE 2	RIER, LF						
0015 158066M	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
ABSORBENT BOOM	LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description			(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	<b>N</b> : 0001	ROADWAY	Cat Alt Set:			Cat Alt Member:			
0016	158072M	2.000	0.01000	0.02	0.01000	0.02	0.01000	0.02	
OIL ONL' TYPE 1	Y EMERGENCY SPI	ILL KIT, U							
0017	159003M	40.000	0.01000	0.40	0.01000	0.40	0.01000	0.40	
BREAKA	WAY BARRICADE	U							
0018	159006M	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00	
DRUM		U							
0019	159009M	150.000	0.01000	1.50	0.01000	1.50	0.01000	1.50	
TRAFFIC	CONE	U							
0020	159012M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00	
CONSTR	UCTION SIGNS	SF							



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0021	MMR060M	75.000	0.01000	0.75	0.01000	0.75	0.01000	0.75
FLASHI	NG ARROW BOARD, 4'	X 8' DAY						
0022	MMD006M	10.000	0.01000	0.10	0.01000	0.10	0.01000	0.10
VARIAB	LE MESSAGE SIGN	DAY						
0023	MMG008M	200.000	400.00000	80,000.00	400.00000	80,000.00	400.00000	80,000.00
MOUNT	C CONTROL TRUCK W ED CRASH CUSHION A NG ARROW BOARD, 4'	AND						
0024	159141M	400.000	0.01000	4.00	55.00000	22,000.00	57.75000	23,100.00
TRAFFIC	C DIRECTOR, FLAGGE	R HOUR						
0025	MMD004M	20.000	0.01000	0.20	0.01000	0.20	0.01000	0.20
FLOOD OPERAT	LIGHTS FOR NIGHTTIN	ME DAY						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	Set: Cat Al		Alt Member:	
0026	202009P	2,100.000	100.00000	210,000.00	80.00000	168,000.00	84.00000	176,400.00
EXCAVA	TION, UNCLASSIFIE	D CY						
0027	202015P	1,600.000	50.00000	80,000.00	50.00000	80,000.00	52.50000	84,000.00
EXCAVA MATERI	TION, REGULATED	CY						
0028	202021P	800.000	100.00000	80,000.00	80.00000	64,000.00	84.00000	67,200.00
REMOVA	AL OF PAVEMENT	SY						
0030	MMD046M	175.000	0.01000	1.75	500.00000	87,500.00	525.00000	91,875.00
TRENCH DIAMET	ILESS PIPE REPAIR : ER	24" LF						
0031	MMD046M	125.000	0.01000	1.25	600.00000	75,000.00	630.00000	78,750.00
TRENCH	ILESS PIPE REPAIR : ER	36" LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID escription		(1) MOUNT CO CO.,		(2) TOTAL MAINTEN			. WATER MAIN IING CO	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0001	ROADWAY	Cat Alt S		Set: Cat Al		Cat Alt Set: Cat Alt Member:		
0032	MMD046M	100.000	0.01000	1.00	600.00000	60,000.00	0.01000	1.00	
TRENCH DIAMETI	ILESS PIPE REPAIR ER	48" LF							
0033	MMD049M	15.000	0.01000	0.15	0.01000	0.15	0.01000	0.15	
REPAIR	OF STRUCTURE	U							
0034	MMD049M	10.000	0.01000	0.10	0.01000	0.10	0.01000	0.10	
	OF STRUCTURE R THAN 6' IN DEPTH	U							
0035	MMD042M	200.000	0.01000	2.00	160.00000	32,000.00	160.00000	32,000.00	
_	TIT COVER PLATE FOURB PIECE	OR U							
0036	202006M	50.000	0.01000	0.50	0.01000	0.50	0.01000	0.50	
EXCAVA	TION, TEST PIT	CY							



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0037 601120P	200.000	0.01000	2.00	125.00000	25,000.00	105.00000	21,000.00
12" REINFORCED CONCRE PIPE LESS THAN 6' IN DEP							
0038 601120P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
12" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	ETE LF						
0039 601122P	200.000	0.01000	2.00	125.00000	25,000.00	105.00000	21,000.00
15" REINFORCED CONCRE PIPE LESS THAN 6' IN DEP							
0040 601122P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
15" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	ETE LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description			(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		. WATER MAIN IING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	ROADWAY	Cat Alt Set:		t Set:	Set: Cat Al		Alt Member:	
0041 601124P	400.000	0.01000	4.00	125.00000	50,000.00	105.00000	42,000.00	
18" REINFORCED CO PIPE LESS THAN 6' IN								
0042 601124P	400.000	0.01000	4.00	0.01000	4.00	0.01000	4.00	
18" REINFORCED CO PIPE 6' TO 12' IN DEP	_							
0043 601128P	400.000	0.01000	4.00	125.00000	50,000.00	105.00000	42,000.00	
24" REINFORCED CO PIPE LESS THAN 6' IN								
0044 601128P	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00	
24" REINFORCED CO PIPE 6' TO 12' IN DEP	-							



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	t Member:	
0045 601132P	400.000	0.01000	4.00	0.01000	4.00	0.01000	4.00
30" REINFORCED CONCRE PIPE LESS THAN 6' IN DEF							
0046 601132P	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
30" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	ETE LF						
0047 601134P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
36" REINFORCED CONCRE PIPE LESS THAN 6' IN DEF	= · = = :						
0048 601134P	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
36" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	ETE LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0049	601136P	100.000	0.01000	1.00	0.01000	1.00	1.00000	100.00
	FORCED CONCRET SS THAN 6' IN DEPT							
0050	601136P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
	FORCED CONCRET O 12' IN DEPTH	E LF						
0051	601138P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
_	FORCED CONCRET TO 12' IN DEPTH	E LF						
0052	601140P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
-	FORCED CONCRET TO 12' IN DEPTH	E LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Se	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	Alt Member:	
0053	601142P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
	NFORCED CONCRETE TO 12' IN DEPTH	LF.						
0054	601146P	100.000	0.01000	1.00	0.01000	1.00	0.01000	1.00
	NFORCED CONCRETE TO 12' IN DEPTH	LF.						
0055	601416P	1,000.000	0.01000	10.00	0.01000	10.00	0.01000	10.00
UNDERI	DRAIN, TYPE F	LF						
0056	601664M	50,000.000	3.50000	175,000.00	3.75000	187,500.00	5.25000	262,500.00
VIDEO I	NSPECTION OF PIPE	LF						
0057	601670M	40,000.000	1.50000	60,000.00	1.00000	40,000.00	1.50000	60,000.00
CLEANII 24" DIAN	NG EXISTING PIPE, 12 METER	2" TO LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item Item Descripti			(1) MOUNT CONSTRUCTION CO., INC.		, ,	CENTER ANCE INC		WATER MAIN
Alt Set / Alt M	ember Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	<b>SECTION:</b> 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0058 60167	<b>7</b> 2M	7,000.000	1.00000	7,000.00	0.01000	70.00	1.50000	10,500.00
CLEANING EXIS 24" TO 48" DIAM	TING PIPE, OVER ETER	LF						
0059 60167	74M	2,000.000	0.50000	1,000.00	0.01000	20.00	0.01000	20.00
CLEANING EXIS 48" TO 72" DIAM	TING PIPE, OVER	LF						
0060 60167	76M	1,000.000	0.50000	500.00	0.01000	10.00	0.01000	10.00
CLEANING EXIS 72" TO 96" DIAM	TING PIPE, OVER	LF						
0061 MMD	014M	2,000.000	20.00000	40,000.00	1.00000	2,000.00	10.00000	20,000.00
CLEANING EXIS	TING DRAINAGE	LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription			CONSTRUCTION (2) TOTAL CI O., INC. MAINTENAN				. WATER MAIN IING CO
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0062	MMD015M	400.000	0.01000	4.00	1.00000	400.00	5.00000	2,000.00
CLEANIN	NG OF BOX CULVER	RTS CY						
0063	202024M	800.000	90.00000	72,000.00	45.00000	36,000.00	47.25000	37,800.00
DISPOSA MATERIA	AL OF REGULATED AL	Т						
0064	MMD007M	575.000	0.01000	5.75	65.00000	37,375.00	68.25000	39,243.75
DISCHAF	RGE PUMP UP TO 4	" SIZE MH						
0065	MMD048M	500.000	0.01000	5.00	0.01000	5.00	0.01000	5.00
DISCHAF	RGE PIPE	LF						
0066	602006P	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
CONCRE	ETE HEADWALL	CY						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description		(1) MOUNT CO CO.,	` '			(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0067 602009M	6.000	0.01000	0.06	200.00000	1,200.00	210.00000	1,260.00
INLET, TYPE A LESS T DEPTH	HAN 6' IN U						
0068 602009M	6.000	0.01000	0.06	0.01000	0.06	0.01000	0.06
INLET, TYPE A GREAT IN DEPTH	'ER THAN 6' U						
0069 602012M	6.000	0.01000	0.06	200.00000	1,200.00	210.00000	1,260.00
INLET, TYPE B LESS T DEPTH	HAN 6' IN U						
0070 602012M	6.000	0.01000	0.06	0.01000	0.06	0.01000	0.06
INLET, TYPE B GREAT IN DEPTH	'ER THAN 6' U						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) TOTAL MAINTEN			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0071	602018M	6.000	0.01000	0.06	200.00000	1,200.00	210.00000	1,260.00
INLET, T DEPTH	YPE E LESS THAN 6	'IN U						
0072	602018M	6.000	0.01000	0.06	0.01000	0.06	0.01000	0.06
INLET, T IN DEPT	YPE E GREATER TH H	IAN 6' U						
0073	602055M	6.000	0.01000	0.06	0.01000	0.06	0.01000	0.06
MANHO	LES	U						
0074	203040M	1,500.000	25.00000	37,500.00	1.00000	1,500.00	1.00000	1,500.00
GEOTEX	TILE	SY						
0075	603057P	500.000	20.00000	10,000.00	23.00000	11,500.00	24.15000	12,075.00
ROCK B	ACKFILL	Т						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(1) MOUNT CO CO.,		(2) TOTAL MAINTEN	CENTER ANCE INC		WATER MAIN
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY	Cat Alt Set:			Cat A	It Member:	
0076	MMD021M	2,000.000	0.01000	20.00	23.00000	46,000.00	24.15000	48,300.00
_	STONE SLOPE FION, 6" THICK	SY						
0077	603017P	1,500.000	0.01000	15.00	23.00000	34,500.00	24.15000	36,225.00
	STONE SLOPE FION, 12" THICK (D	SY 50=6")						
0078	603021P	500.000	25.00000	12,500.00	0.01000	5.00	0.01000	5.00
_	STONE SLOPE FION, 18" THICK (D	SY 50=9")						
0079	603024P	200.000	20.00000	4,000.00	0.01000	2.00	0.01000	2.00
_	STONE SLOPE FION, 24" THICK (D	SY 50=12")						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID escription			OUNT CONSTRUCTION (2) TOTAL CE MAINTENANCE				WATER MAIN
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0800	603036P	1,000.000	20.00000	20,000.00	0.01000	10.00	0.01000	10.00
	STONE CHANNEL CTION, 12" THICK (E	SY 050=6")						
0081	603042P	500.000	20.00000	10,000.00	0.01000	5.00	0.01000	5.00
	STONE CHANNEL CTION, 18" THICK (E	SY 050=9")						
0082	MMD045M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
TRENCH	I REPAIR	CY						
0083	604003P	200.000	50.00000	10,000.00	0.01000	2.00	0.01000	2.00
GABION	WALL	CY						
0084	605212P	50.000	0.01000	0.50	0.01000	0.50	0.01000	0.50
RESET F	FENCE	LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		• •			CENTER ANCE INC		. WATER MAIN IING CO
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0085	606012P	300.000	10.00000	3,000.00	14.00000	4,200.00	14.70000	4,410.00
CONCR	ETE SIDEWALK, 4" TH	HICK SY						
0086	607024P	300.000	25.00000	7,500.00	18.00000	5,400.00	18.90000	5,670.00
9" X 20" CURB	CONCRETE VERTICA	AL LF						
0087	607087P	350.000	10.00000	3,500.00	0.01000	3.50	0.01000	3.50
9" X 8" H	IOT MIX ASPHALT CU	JRB LF						
0088	608003P	200.000	0.01000	2.00	10.00000	2,000.00	10.50000	2,100.00
NONVEO MIX ASP	GETATIVE SURFACE, PHALT	HOT SY						
0089	609063M	300.000	0.01000	3.00	0.01000	3.00	0.01000	3.00
_	BEAM GUIDE RAIL W G POSTS	TH LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(1) MOUNT CO CO.,		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set:		Cat A	It Member:		
0090	801012M	8,000.000	6.00000	48,000.00	15.00000	120,000.00	15.75000	126,000.00
SELECT	IVE CLEARING	SY						
0091	MMD033M	10.000	0.01000	0.10	0.01000	0.10	0.01000	0.10
TREE RE	EMOVAL 6" TO 24" ER	U						
0092	804006P	6,500.000	1.00000	6,500.00	2.50000	16,250.00	2.50000	16,250.00
TOPSOI	LING, 4" THICK	SY						
0093	806018P	6,500.000	2.50000	16,250.00	2.50000	16,250.00	2.50000	16,250.00
FERTILIZ F	ZING AND SEEDING,	TYPE SY						
0094	807003M	6,500.000	1.00000	6,500.00	2.50000	16,250.00	2.50000	16,250.00
TOPSOII MAT	L STABILIZATION, TY	PE 1 SY						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No Item Des			(1) MOUNT CO CO.,		(2) TOTAL CENTER MAINTENANCE INC		(3) NATIONAL WATER MAIN CLEANING CO	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0095	809003M	6,500.000	0.50000	3,250.00	2.50000	16,250.00	2.50000	16,250.00
STRAW MI	ULCHING	SY						
0096	MMD007M	150.000	0.01000	1.50	150.00000	22,500.00	157.50000	23,625.00
DISCHARC	GE PUMP 6" SIZE	МН						
0097	401099M	150.000	270.00000	40,500.00	100.00000	15,000.00	105.00000	15,750.00
HOT MIX A	ASPHALT 25 M 64 B	ASE T						
0098	401054M	100.000	200.00000	20,000.00	100.00000	10,000.00	105.00000	10,500.00
HOT MIX A SURFACE	ASPHALT 12.5 M 64 COURSE	Т						
Section	Totals:			\$1,198,637.04		\$1,633,671.07		\$1,696,527.84
	Cont	ract Totals		\$1,198,637.04		\$1,633,671.07		\$1,696,527.84



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Contract Description: RE-ADV-CENTRAL '13 MAINT DRN CLEAN, VIDEO AND REPAIR CONT

Cost Plus Time Totals \$1,198,637.04 \$1,633,671.07 1,696,527.84

() indicates item is bid as Lump Sum



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No			(4) IEW CONS	STR GP, INC				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001	109006M	50,000.000	1.00000	50,000.00				
FORCE AC	COUNT	DOLL						
0002	151006M	1.000	10,000.00000	10,000.00				
PERFORM PAYMENT	ANCE BOND AND BOND	DOLL						
0003	152004P	1.000	5,000.00000	5,000.00				
-	AND CONTRACTOR IVE LIABILITY CE	d'S DOLL						
0004	MMR004M	40.000	1,600.00000	64,000.00				
MOBILIZAT	ΓΙΟΝ	U						
0005	MMR006M	5.000	4,000.00000	20,000.00				
EMERGEN	ICY MOBILIZATION	U						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	act Beechipmen.	INE-ADV-CENTINAL	TO IVIJ WITT DIKIT	OLL/ III, VIDEO	THE INC.	00111		
	lo / Item ID escription		(4) IEW CONS	STR GP, INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0006	MMG007M	(1)	0.01000	0.01				
FIELD O	FFICE EQUIPMENT	LS						
0007	MMG005M	(1)	0.01000	0.01				
CELLUL	AR PHONE SERVICE	LS						
8000	157004M	1.000	0.01000	0.01				
CONSTR	RUCTION LAYOUT	DOLL						
0009	158003M	100.000	0.01000	1.00				
CAUTIO	N FENCE	LF						
0010	158006M	200.000	0.01000	2.00				
SILT FEI	NCE	LF						
0011	158015M	200.000	0.01000	2.00				
HAYBAL	Е	U						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt Set:		Cat A	It Member:	
0012	158021M	300.000	0.01000	3.00				
TEMPOR	RARY STONE CHECK	DAM CY						
0013	158024M	300.000	0.01000	3.00				
TEMPOR	RARY SLOPE DRAIN	LF						
0014	158045M	200.000	0.01000	2.00				
FLOATIN TYPE 2	IG TURBIDITY BARRIE	ER, LF						
0015	158066M	100.000	0.01000	1.00				
ABSORE	BENT BOOM	LF						
0016	158072M	2.000	0.01000	0.02				
OIL ONL TYPE 1	Y EMERGENCY SPILL	. KIT, U						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	/ Item ID scription		(4) IEW CONS	STR GP, INC				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I:</b> 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0017	159003M	40.000	0.01000	0.40				
BREAKAV	BREAKAWAY BARRICADE							
0018	159006M	100.000	0.01000	1.00				
DRUM U								
0019	159009M	150.000	0.01000	1.50				
TRAFFIC	CONE	U						
0020	159012M	200.000	0.01000	2.00				
CONSTRU	JCTION SIGNS	SF						
0021	MMR060M	75.000	0.01000	0.75				
FLASHING	ARROW BOARD, 4	' X 8' DAY						
0022	MMD006M	10.000	0.01000	0.10				
VARIABLE	MESSAGE SIGN	DAY						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID		(4) IEW CONS	STR GP, INC				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0023	MMG008M	200.000	400.00000	80,000.00				
MOUNT	C CONTROL TRUCK V ED CRASH CUSHION NG ARROW BOARD, 4	AND						
0024	159141M	400.000	75.00000	30,000.00				
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						
0025	MMD004M	20.000	5,000.00000	100,000.00				
FLOOD OPERAT	LIGHTS FOR NIGHTT TIONS	IME DAY						
0026	202009P	2,100.000	50.00000	105,000.00				
EXCAVA	TION, UNCLASSIFIE	O CY						
0027	202015P	1,600.000	50.00000	80,000.00				
EXCAVA MATERI	TION, REGULATED	CY						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(4) IEW CONS	STR GP, INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0028	202021P	800.000	35.00000	28,000.00				
REMOV	AL OF PAVEMENT	SY						
0030	MMD046M	175.000	167.00000	29,225.00				
_	TRENCHLESS PIPE REPAIR 24" LF DIAMETER							
0031	MMD046M	125.000	201.00000	25,125.00				
TRENCH DIAMET	ILESS PIPE REPAIR : ER	36" LF						
0032	MMD046M	100.000	234.00000	23,400.00				
TRENCH DIAMET	ILESS PIPE REPAIR ( ER	48" LF						
0033	MMD049M	15.000	0.01000	0.15				
REPAIR	OF STRUCTURE	U						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0034	MMD049M	10.000	0.01000	0.10				
	OF STRUCTURE R THAN 6' IN DEPTH	U						
0035	MMD042M	200.000	0.01000	2.00				
_	TIT COVER PLATE FOURB PIECE	OR U						
0036	202006M	50.000	0.01000	0.50				
EXCAVA	TION, TEST PIT	CY						
0037	601120P	200.000	0.01000	2.00				
	IFORCED CONCRET SS THAN 6' IN DEPT							
0038	601120P	100.000	0.01000	1.00				
	IFORCED CONCRET O 12' IN DEPTH	E LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description		(4) IEW CONS	STR GP, INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0039 601122P	200.000	120.00000	24,000.00				
15" REINFORCED CONCRE PIPE LESS THAN 6' IN DEP							
0040 601122P	100.000	120.00000	12,000.00				
15" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	TE LF						
0041 601124P	400.000	125.00000	50,000.00				
18" REINFORCED CONCRE PIPE LESS THAN 6' IN DEP							
0042 601124P	400.000	125.00000	50,000.00				
18" REINFORCED CONCRE PIPE 6' TO 12' IN DEPTH	TE LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description	n	(4) IEW CONS	STR GP, INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY	Cat Alt S		t Set: Cat A		It Member:	
0043 601128P	400.000	135.00000	54,000.00				
24" REINFORCED CONC PIPE LESS THAN 6' IN D							
0044 601128P	200.000	135.00000	27,000.00				
24" REINFORCED CONC PIPE 6' TO 12' IN DEPTH							
0045 601132P	400.000	145.00000	58,000.00				
30" REINFORCED CONC PIPE LESS THAN 6' IN D							
0046 601132P	200.000	145.00000	29,000.00				
30" REINFORCED CONC PIPE 6' TO 12' IN DEPTH							



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY	Cat Alt Se		Set:	Cat Alt Me		
0047	601134P	100.000	150.00000	15,000.00				
	FORCED CONCRET S THAN 6' IN DEPTI							
0048	601134P	200.000	150.00000	30,000.00				
	FORCED CONCRET D 12' IN DEPTH	E LF						
0049	601136P	100.000	0.01000	1.00				
	FORCED CONCRET S THAN 6' IN DEPTI							
0050	601136P	100.000	200.00000	20,000.00				
	FORCED CONCRET D 12' IN DEPTH	E LF						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	Line No / Item ID Item Description Alt Set / Alt Member		(4) IEW CONS	STR GP, INC				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0051 6	601138P	100.000	0.01000	1.00				
	RCED CONCRET 0 12' IN DEPTH	E LF						
0052	601140P	100.000	0.01000	1.00				
-	RCED CONCRET ) 12' IN DEPTH	E LF						
0053	601142P	100.000	0.01000	1.00				
	RCED CONCRET ) 12' IN DEPTH	E LF						
0054	601146P	100.000	0.01000	1.00				
_	RCED CONCRET ) 12' IN DEPTH	E LF						
0055	601416P	1,000.000	0.01000	10.00				
UNDERDRA	AIN, TYPE F	LF						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
	•	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0056	601664M	50,000.000	2.25000	112,500.00				
VIDEO IN	SPECTION OF PIPE	LF						
0057	601670M	40,000.000	4.25000	170,000.00				
CLEANIN 24" DIAM	NG EXISTING PIPE, 12" IETER	TO LF						
0058	601672M	7,000.000	8.00000	56,000.00				
	NG EXISTING PIPE, OV 8" DIAMETER	ER LF						
0059	601674M	2,000.000	15.00000	30,000.00				
	NG EXISTING PIPE, OV 2" DIAMETER	ER LF						
0060	601676M	1,000.000	20.00000	20,000.00				
	NG EXISTING PIPE, OV 6" DIAMETER	ER LF						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY	Ca		t Set:	Cat A	It Member:	
0061	MMD014M	2,000.000	20.00000	40,000.00				
CLEANIN	NG EXISTING DRAINAG URE	GE LF						
0062	MMD015M	400.000	0.01000	4.00				
CLEANIN	NG OF BOX CULVERTS	S CY						
0063	202024M	800.000	200.00000	160,000.00				
DISPOS. MATERIA	AL OF REGULATED AL	Т						
0064	MMD007M	575.000	0.01000	5.75				
DISCHA	RGE PUMP UP TO 4" S	SIZE MH						
0065	MMD048M	500.000	0.01000	5.00				
DISCHA	RGE PIPE	LF						
		·						



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	o / Item ID escription		(4) IEW CONS	STR GP, INC				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	Set:	Cat A	It Member:	
0066	602006P	200.000	50.00000	10,000.00				
CONCRE	TE HEADWALL	CY						
0067	602009M	6.000	0.01000	0.06				
INLET, T DEPTH	YPE A LESS THAN 6'	IN U						
0068	602009M	6.000	0.01000	0.06				
INLET, T IN DEPT	YPE A GREATER THA H	N 6' U						
0069	602012M	6.000	0.01000	0.06				
INLET, T	YPE B LESS THAN 6'	IN U						
0070	602012M	6.000	0.01000	0.06				
INLET, T	YPE B GREATER THA H	.N 6' U						

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

	lo / Item ID Description		(4) IEW CONS	STR GP, INC					
	·	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	<b>DN</b> : 0001	ROADWAY	ROADWAY		: Set:	Cat A	Cat Alt Member:		
0071	602018M	6.000	0.01000	0.06					
INLET, T DEPTH	YPE E LESS THAN 6'	IN U							
0072	602018M	6.000	0.01000	0.06					
	INLET, TYPE E GREATER THAN 6' UIN DEPTH								
0073	602055M	6.000	0.01000	0.06					
MANHO	LES	U							
0074	203040M	1,500.000	50.00000	75,000.00					
GEOTE	KTILE	SY							
0075	603057P	500.000	50.00000	25,000.00					
ROCK B	OCK BACKFILL T								



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description			(4) IEW CONS	STR GP, INC				
	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0076	MMD021M	2,000.000	0.01000	20.00				
RIPRAP STONE SLOPE SY PROTECTION, 6" THICK								
0077	603017P	1,500.000	0.01000	15.00				
	RIP RAP STONE SLOPE SY PROTECTION, 12" THICK (D50=6")							
0078	603021P	500.000	20.00000	10,000.00				
RIPRAP STONE SLOPE SY PROTECTION, 18" THICK (D50=9")		~ .						
0079	603024P	200.000	20.00000	4,000.00				
RIPRAP STONE SLOPE SY PROTECTION, 24" THICK (D50=12")								



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description			(4) IEW CONS	STR GP, INC				
	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0800	603036P	1,000.000	0.01000	10.00				
RIPRAP STONE CHANNEL SY PROTECTION, 12" THICK (D50=6")		l l						
0081	603042P	500.000	20.00000	10,000.00				
RIPRAP STONE CHANNEL SY PROTECTION, 18" THICK (D50=9")								
0082	MMD045M	200.000	100.00000	20,000.00				
TRENCH F	REPAIR	CY						
0083	604003P	200.000	100.00000	20,000.00				
GABION WALL CY								
0084	605212P	50.000	0.01000	0.50				
RESET FENCE LF								
		·		·		·		



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description			(4) IEW CONS	STR GP, INC				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0085 CONCRI	606012P ETE SIDEWALK, 4" THI	300.000 CK SY	50.00000	15,000.00				
0086 9" X 20" CURB	607024P CONCRETE VERTICAL	300.000 _ LF	25.00000	7,500.00				
0087 9" X 8" H	607087P HOT MIX ASPHALT CUF	350.000 RB LF	0.01000	3.50				
0088 NONVEO MIX ASF	608003P GETATIVE SURFACE, F PHALT	200.000 HOT SY	35.00000	7,000.00				
_	609063M BEAM GUIDE RAIL WIT G POSTS	300.000 H LF	0.01000	3.00				



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description Alt Set / Alt Member			(4) IEW CONS	STR GP, INC				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0090	801012M	8,000.000	5.00000	40,000.00				
SELECTI	VE CLEARING	SY						
0091	MMD033M	10.000	0.01000	0.10				
TREE RE	MOVAL 6" TO 24" R	U						
0092	804006P	6,500.000	3.00000	19,500.00				
TOPSOIL	ING, 4" THICK	SY						
0093	806018P	6,500.000	3.00000	19,500.00				
FERTILIZ F	ING AND SEEDING,	TYPE SY						
0094	807003M	6,500.000	3.00000	19,500.00				
TOPSOIL MAT	TOPSOIL STABILIZATION, TYPE 1 SY MAT							

Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Line No / Item ID Item Description Alt Set / Alt Member			(4) IEW CONS	STR GP, INC				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0095	809003M	6,500.000	1.00000	6,500.00				
STRAW M	ULCHING	SY						
0096	MMD007M	150.000	0.01000	1.50				
DISCHAR	GE PUMP 6" SIZE	МН						
0097	401099M	150.000	70.00000	10,500.00				
HOT MIX A	ASPHALT 25 M 64 B	ASE T						
0098	401054M	100.000	70.00000	7,000.00				
HOT MIX A	ASPHALT 12.5 M 64 COURSE	Т						
Section	Section Totals:			\$1,933,359.32				
Contract Totals				\$1,933,359.32				



Contract ID: 13418 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: March 07, 2013 District(s): H4

Call Order: 418 Project(s):

Contract Time: 12/31/13 COMPLETION DATE

Contract Description: RE-ADV-CENTRAL '13 MAINT DRN CLEAN, VIDEO AND REPAIR CONT

Cost Plus Time Totals \$1,933,359.32

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

13418

Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: March 07, 2013 10:00AM District(s): H4

Contract Time: 12/31/13 COMPLETION DATE

Contract Description: RE-ADV-CENTRAL '13 MAINT DRN CLEAN, VIDEO AND REPAIR CONT Project(s):

**Contract ID:** 

Rank	Vendor	· ID/Name	Total Bid	Percent Of Low Bid
1	M6816	MOUNT CONSTRUCTION CO., INC.	\$1,198,637.04	100.00%
2	T6778	TOTAL CENTER MAINTENANCE INC	\$1,633,671.07	136.29%
3	N0817	NATIONAL WATER MAIN CLEANING CO	\$1,696,527.84	141.54%
4	12943	IEW CONSTR GP, INC	\$1,933,359.32	161.30%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,

Call Order:

418